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Examples | A few remote groups | Egypt, Kenya, india Brazi USA, Japan France, UK Germany
Birth rate High High Faling Low Very low
Death rate High Falls rapidly Falls more siowly Low Low
Natural Stable or Stable or
phosnfell oo Very rapid ncrease | Increase siows down | Sbleor Siow decrease
Reasons for | Many chidren needed for farming. Many Improved medical Family planning. Good health.
changesin | children die at an early age. Religious/Social | care and diet. Fewer Improving status of women.
birth rate encouragement. No family planning. chidren needed. Later marriages.
Reasons for | Disease, famine. Poor
" Improvements in medical care, water supply Good health care.
changes in medical knowledge
Geathrate | So mony coutensge, | and santation. Fewer chidren de. Reliable food supply.





